G9-Probability of Compound Event-Test

Short Response

1.The spinner in the picture is used in a lucky draw.
(a) David needs to get the number 3 on a single spin. What is
the probability that he will land on the number 3 in one spin? (L
If the spinner has two sections labeled with the number 3
(out of a total of four sections), then the probability of _
2 1
_ 7 >

landing on a 3 in one spin would be 4 2 '

(b) What is the probability that David will get the number 3 twice in a row when the
wheel is spun twice?
1 1 1
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2 2 4

(c) What is the theoretical probability that he will win the lucky prize if the wheel
lands on the number 3 four times in a row?
1 1 1 1 1

—X—X—X—=—

2 2 2 2 16

2.Two bags, Bag 1 and Bag 2, each contain three counters.

e Bag 1 contains counters labeled 3, 4, and 6.

e Bag 2 contains counters labeled 2, 5, and 7.
A counter is drawn at random from Bag 1, and a counter is drawn from Bag 2.
The two numbers are multiplied together to give a score.

(a) Complete the table to show all possible scores.

3 4 6
2 6 8 12
S5 15 20 30
7 21 28 42

(b) Find the probability of scoring a 12.
1

9

(c) Find the probability of scoring a multiple of 4.
Multiples of 4 in the table: 8, 12, 20, 28.

4

9

(d) Find the probability of scoring an odd number.
Odd numbers in the table: 15, 21.
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3.Rose is playing a game with a fair six-sided die and a fair coin. She rolls the die
and flips the coin.

e Ifthe coin lands on heads, her score is two less than the number on the die.

e If the coin lands on tails, her score is three more than the number on the die.

(a) Complete the table to show all possible scores.

Die 1 2 3 4 5 6
Head -1 0 1 2 3 4
Tail 4 5 6 7 8 9

(b) Find the probability of scoring a 1.
1
12
(c) Find the probability of scoring a 6.
1
12
(d) Find the probability of scoring a number greater than 5.
Numbers greater than 5: 6, 7, 8, 9.
4 1
12 3
(e) Find the probability of scoring a prime number.

Prime numbers: 2, 3, 5, 7.
4

!
2 3

4. A fair die has six faces numbered 1, 1, 2, 3, 4, and 5. The die is rolled twice, and
the numbers shown are recorded each time.
(a) Find the probability that the sum of the two numbers is at least 7.
Possible outcomes where the sum is at least 7: (2+5), (3+4), (3+5), (413), (4+4),
(4+5), (5+2), (5+3), (5+4), (5+5).
There are 10 favorable outcomes.
Total possible outcomes: 36
10 5

Probability: 36 18

(b) Find the probability that both rolls result in an even number.
Even numbers on the die: 2, 4.

Possible combinations: (2,2), (2,4), (4,2), (4,4).

There are 4 favorable outcomes.

Total possible outcomes: 36



4 1

Probability: 36 9

(c) Find the probability that the sum is an odd number.

Odd sums can occur with the following combinations: (1,2), (1,4), (2,1), (2,3), (3,2),
(3,4), (4,1), (4,3), (5,2), (5,4).

There are 10 favorable outcomes.

Total possible outcomes: 36.

10_5
Probability: 36 18

5. You are baking a cake, and you have three different flavors to choose from:
Vanilla, Chocolate, and Strawberry. You also have two types of decorations to add
to the cake: Sprinkles and Icing.
(a)How many different cake combinations can you create if you can choose one flavor
and one decoration?
Vanilla with Sprinkles
Vanilla with Icing
Chocolate with Sprinkles
Chocolate with Icing
Strawberry with Sprinkles
e Strawberry with Icing
Total combinations: 3x2=6 different combinations.

(b)What is the probability of randomly selecting a Chocolate cake with Sprinkles?
1

6

(c)If you were to randomly pick one flavor and one decoration, what is the probability
that you do not end up with a Strawberry cake with Icing?

5

6



Vocabulary:

e Probability (#§22): The likelihood of a specific outcome.
(R E At 2R A2 A2 1) T REME)

e Randomly (FER&H): Without a specific pattern, order, or objective.
(RARERIRE, NHFP8 H A #IEAT)

e Flavor (F1B£): A particular taste of food or drink.
(W SR R E )

e Decoration (#:£ffi): Items added to something to make it look more attractive.
(IINBIEY) LR ah, TR A5 N)

e Outcome (#i &%): The result of a process or situation.

(— B FE B AR DLAIAE R

Sentence Patterns:
e What is the probability of [verb] + [specific event]?
(BEZE [R5 8 B IR ROPE R S A1)
o Example (f41-1): What is the probability of landing on the number 3?
(R B5 3 AR SRIZATIEE?)
e If [condition], then [result].
(AR [R1F], ABELHS 2R )
o Example (f4-): If the coin lands on heads, then her score is two less
than the number on the die.
(an RpE s E R b, ARIEML A4Sy Bk B B R4y )
e Complete the table to show [specific detail].
(GERFAS IR R M ], )
o Example (f41-F): Complete the table to show all possible scores.
(FERR NS LLBURTA ATRERY 73 30, )
e What is the theoretical probability that [condition] + [result]?
(TEMEEE] T, R RIPBEERERZEZD?)
o Example (f41-1): What is the theoretical probability that the wheel
lands on the number 3 four times in a row?
(PR LA O VR R B3 ) BRI R e 20 ?)



